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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
/ \
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1
» Anything times5 HAS to end in an either a5 or a0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in a0. Ex. 10x7=70 10x16=160 3.
\_ /
4,
1) 636 x 10=6,365 2) 5x339=1,696
5.
3) 5x637=3,188 4) 525x2=1,051 6.
7.
5) 768 x5=23,840 6) 686 x5=23,430
8.
7) 675x2=1,351 8) 714 x5=3570 9.
10.
9) 389x2=778 10) 10x135=1,350
11.
11) 363x 10=23,635 12) 417x2=835 =
13.
13) 526 x 5=2,630 14) 10 x 154 =1,540 1
15.
15) 2x982=1,964 16) 142x5=712
16.
17) 10x 154 =1,549 18) 706 x2=1,412 17.
18.
19) 149 x10=1,493 20) 519x2=1,038
19.
20.
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Determining Reasonable Answer Name. Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
/ \
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
 Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. no
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10x 16=160 3. no
\_ Y
4, no
1) 636 x10=6,365 2) 5x339=1,696
5, YES
3) 5x637=3,88 4) 525x2=1,051 6 yes
7. no
5) 768 x5=3,840 6) 686 x5=23,430
8. YES
7) 675x2=1,351 8) 714 x5=3570 9. PASS
10. YES
9) 389x2=778 10) 10x 135=1,350
11. no
no
11) 363 x 10= 3,635 12) 417 x2=835 2
13. YES
13) 526 x5=2,630 14) 10x154=1,540 1 yes
15. YES
15) 2x982=1,964 16) 142x5=712
16. no
17) 10x 154 =1,549 18) 706 x2=1,412 17. no
18. YES
19) 149 x10=1,493 20) 519x2=1,038
19. no
20. YES
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